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EfKEMANBRBEEAAL10 o 1/ 1
BfI ke
X5 & &t 1A 2 A 3 A 4 A 5 A 6 A 7 A 8 A 9 A 10 A 1A 12 A
#&g e 574,373 42,110 43472 48,452 59,847 53,595 49,756 45,643 41,155 38,510 46,514 46,771 58,548
16 | &4 |7=Ly f=Ly =Ly f=Ly f=Ly f=ty f=L) f=Ly f=L) =Ly f=Ly f=Ly T=Ly
BE 174,305 13,007 12,324 15,078 20,317 17,560 14,309 13,695 14,102 14,040 14,339 12,312 13,226
1| @A [IFFES F¥32) ML b)Y gAY nhlLy Thi —LvbhL bl [ES FFE5 L (AY:) AV
e 39,496 3,509 5,659 4,813 3,844 4,866 5,152 4,203 4,287 2,710 4,821 4,532 6,324
3L | F L )y gA IFFE5 FFH L8 Fs=3 FFH F<J FFH (F<J FFH F<J FFH
HE 35,254 3,270 2,895 3,516 3475 3,814 2,908 2,955 2,935 2,268 3,636 4,318 4,228
MI| BB |ph AV 58 L FFH FF5 [F5=3 f=C 2V LyA [F< FFH AY
BE 23,168 2,756 1,435 2,055 3449 3,216 2,734 2,793 2,203 2,209 2,910 3,869 3,663
S| @& |Ft Vi -5 L& AY:) [AY:) f=C FF5 AV} SEX X4 X4 IIE
HE 22,758 1,557 1,317 1,979 2,755 2,887 2,622 2,624 1,966 1,326 2,131 2,357 2,580
60 | @ [I3E HL L HL HL 5 LA AUV HL f== TER AUV TER
BE 19,427 1,393 1,306 1,591 2,390 2,096 2,154 2,273 1,680 1,313 1,509 2,117 2,343
i |&%|HL TER [63=Y:2) [63=1:2) [F53 »HL &L Ly 1=C &L HL TER E$3)
BE 18,784 1,126 1,304 1,437 2,187 2,011 2,071 1,557 1,501 1,229 1,400 1,336 2,284
8l | B4 B Y [@YaN =ivs [63=Y:2) [63=1:2) ES3) HL =ivs 58 L =ivs F5=3
BE 16,006 1111 1,238 1,219 1,908 1,491 1,971 1,448 1413 1,068 1,275 1,237 2,090
oL | &4 |f=C LA =lvs b B f=C Ehi [63=Y.9) [63=Y9) =(F AUV HL =lvs
HE 15,621 948 1,103 1,082 1473 1418 1,340 1171 1,404 1,031 1,222 1,231 1,961
10 | /& [uss HAT= DL IIE -5 =lvs [63=T:a) =lvs TER [63=Y:2) =ivs [63=Y:2) neE
BE 15,485 947 950 1,020 1,380 1,199 1,204 1,168 1,008 977 1214 941 1,710
T B2 194,068 12,485 13,941 14,661 16,669 13,037 13,286 11,757 8,657 10,340 12,058 12,521 18,139




